[image: ]
Displacement = area under a v-t graph
s = area 1 + area 2 + area 3 + area 4


Displacement = 420m
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Displacement = area under a v-t graph
s = area 1 + area 2 + area 3 + area 4


Displacement = 560m


Displacement = area under a v-t graph
s = area 1 + area 2 + area 3 


Displacement = 110m
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Displacement = area under a v-t graph
s = area 1 + area 2 + area 3 


Displacement = 420m


Displacement = area under a v-t graph
s = area 1 + area 2 + area 3 


Displacement = 1400m
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Displacement = area under a v-t graph
s = area 1 + area 2 + area 3 + area 4
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time/ seconds

0-5 seconds: from metres per second
to metres per second. (Constant/uniform ).
5-12 seconds: of metres per second.
12 - 17 seconds: from metres per second

to metres per second. (Constant/uniform ).
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time/ seconds

0-5 seconds: from metres per second
to metres per second. (Constant/uniform ).
5-12 seconds: of metres per second.
12 - 17 seconds: from metres per second

to metres per second. (Constant/uniform ).
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0-10 seconds: from metres per second
____Metres per second. (Constant/uniform _ ).
10- 14 seconds: of metres per second.
14-20seconds: from ___ metres per second

to___ metres per second. (Constantunitorm ).




